
Converting Celsius to Fahrenheit (J)Estimate or convert the temperatures.
13 °C = _____°F -66 °C = _____°F -94 °C = _____°F
-81 °C = _____°F -17 °C = _____°F -82 °C = _____°F
-56 °C = _____°F 36 °C = _____°F -52 °C = _____°F
46 °C = _____°F -39 °C = _____°F -31 °C = _____°F
66 °C = _____°F -54 °C = _____°F 79 °C = _____°F
11 °C = _____°F -27 °C = _____°F 67 °C = _____°F
-17 °C = _____°F -52 °C = _____°F 92 °C = _____°F
88 °C = _____°F 80 °C = _____°F 99 °C = _____°F
-50 °C = _____°F 91 °C = _____°F 38 °C = _____°F
27 °C = _____°F 50 °C = _____°F 69 °C = _____°F
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